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QUESTION 1

Click the Exhibit button.

Consider the customer\\'s current programming: NCOS of 2 = FRL of 2 Class of Service on all sets is CTD

With reference to the exhibit, how would you modify Route List Index 1 to permit all station users with an NCOS of 2 to
place 1+912 calls?

A. Change FRL on Route List Index 1 to FRL 1
B. Change FRL on Route List Index 1 to FRL 4
C. Change FLI on NPA entry for 1214 to RLI 2
D. Leave all existing programming as is.

Correct Answer: A
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QUESTION 2

Click the Exhibit button.

A customer has asked if the Communication Server 1000 RIs. 7 x system can provide Exchange users
with the ability to selectively drop people that have been added to a conference. Based on the print-outs,
what capabilities are currently available to the user of extension 2006?

A. The user cannot see the conferee display count or selectively disconnect callers.

B. Theuser can see the conferee display count and can selectively disconnect callers.

C. The user can see the conferee display count but cannot selectively disconnect callers.

D. The user cannot see the confereedisplay count butselectively disconnect callers.

Correct Answer: B

QUESTION 3

A customer is using Zone Based Dialing in their Networked Communication Server 1000 systems. Which prompt has
been added to the telephone configuration overlays to allow IP telephones to be configured for this?

A. the DIA1__PLAN prompt (Type Of dialing plan for DN/CLIDdisplay)
B. the NZON prompt (Numbering Zone)

C. the NUMZONE prompt (Number of the Numbering Zone)

D. the NZDES prompt (NumberingZone Designator)

Correct Answer: C

QUESTION 4

Click the Exhibit button. You are responsible for maintaining a small Communication Server 1000 RIs. 7 x SA system.
The customer decided against using Basic Automatic Route Selection (BARS) for call routing. They are now reporting
that the user of extension 2001 is blocked when attempting to dial local call using the COT access code.

Based on the exhibit, what adjustments should be made to the system to allow the user of extension 2001 to dial local
calls only by directly accessing the COT Route?

A. Change the Class of Service of extension 2001 to Semi Restricted (SRE) and leave the TGAR setting of two (2) on
the COT Route.

B. Change the TGAR of extension2001 to zero and leave the Class of Service setting of Toll Denied (TLD) on extension
2001.

C. Change the Class of Service of extension 2001 to Conditionally Unrestricted (CUN),leave theTGAR setting of two (2)
on the COT Route.
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D. Change the TGAR of the COT Route to zero and change the Class of Service setting of extension 2001 to
Conditionally Toll Denied (CTD)

Correct Answer: D

QUESTION 5

Click the Exhibit button.

A customer\\'s dialing requirement, listed below, require that all station users assigned an NCOS of 3 and Class of
Service of Conditionally Toll Denied (CTD) be able to place toll calls from the United States to Australia.

Australia Country Code: 61 NCOS of 3 has an FRL of 3 Expensive Routers are not being used

With reference to the exhibit, which table will allow all station users to be able to place these toll calls?
A. Provisioning Table A

B. Provisioning Table B

C. Provisioning Table C

D. Provisioning Table D

Correct Answer: B
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